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Challenge

22. Give the length and width of two
rectangles that have an area of 20m?.

i v
this parallelogram. o=

24. Calculate the volume of @
a cube with a 3cm side length.
3cm
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b) 0-49 - 019 = [:] d) 0-60 - 0-45 =
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e Complete the missing numbers in these models.
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Starter Activity

7. Which is a common multiple of 4
and 6? 2 3 8 12 18

8. Which factor of 25 is also a prime
number?

9. 68-24+2

10. I have £10. | buy 2 coffees at £2.89
each. How much do | have left?
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0 Mo adds different amounts of
water and orange to make orange
squash. Complete the additions.

a) O-36l+0-22l=D[
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b) o~251+o-471=C]1
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) 0-55+03l= C] d) 038+ 038 = C]
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e Kate works out 0-05 + 0-12 as a column addition. Explain Kate’s mistake.
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e A running race is 0-65 km long. Lee runs 0-34 km. How far is left to run?

0-65 km — 034 km = D km

o Complete the subtractions.
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. eeeese 0~ & 5
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a) 0:92 - 0-58 = C] Q) 07— 02 = C]
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